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COMMERCE AND ACCOUNTANCY (PAPER-I)

Time Allowed ;| Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Fiease read each of the following instructions carefully before attempting questions)
There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.
Candidate has te attempt FIVE questions in all,
Question Nos. 1 and 5§ are compulsory and out of the remaining, THREE are to be atternpted
choosing at least ONE question from each Section.
The number of marks carried by a question/part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer [QCA) Booklet in the

space provided, No marks will be given for answers written in a medium other than the
authorized one,

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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WTE—A [/ BECTION—A

1. Trforfien weel & & weis ® 3w o 150 =it & Hifm -
Answer the following questions in about 150 words each : 10%5=50

fa) Tl g T i owE al (wdE) 8w oA b A O e afe & e oh H@i
w1 5 i

What is meant by buyback of shares by companies? Explain the reasons and
sources of buyback of shares,

by “umE B IR anidE whem § wem S oibs # sl T e om e b fof
i |

“Cost Accounting is becoming more and more relevant in the emerging
economic scenario in India.” Comment.

fc} % -mmaETl W an ® de-slem w0 w9 uF om-uhes g feEn e
ugE Al w1 99 Fifa
Explain the major points to be considered by an auditer while auditing the
accounts of a non-profit organization.

(d) THETEA FER-12 (Te THo-12) % FEN wHE FEE] F TR saeEn o He # s
e

Briefly explain the accounting treatment of Government Grants as per AS-12,

fef "THFEMAIFEAH TR ATt ot m s ¥
fom ot wg ww By e B

“An assessee is not only liable in respect of his own incomes for tax purposes
but his liability may extend to some other incomes also.” Explain.

2. fa) AB TR = 31 9, 2022 9 oA -1 Feffam b

r
1. st o anfrr
1. wamaws Ffg
fap m gal -
16000 #9M 31 @ © 100 Tw [0 v 16,000,000
fb) FmiEaEt wa i [~} 21,40,000
2. Ayl S
8% FOH 28,00,000
e R 1,40,000
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Tafag &= S.00,000
A, = 20,000

¥ 33,20,000

n. dftwefiat

1. swetem wiEefml
o, e wa wees 28,00,000

2 ?ﬁm :
=i 2,00,000
fafam #Em 80,000
fram 30,000
o T T 2,06,000
g T T 4,000

b L 33,20,000

Tt ivwefl ) w0 A wfmfEm §)oow iae G e o o) g § e
g mwn ¥,

i) T N F L0 A T P WER wea W § faie faen am

i} TR IR F wE, T s W e w 90% T w wefin w5, ik
T WO AR A A Wl e o oo, T sers o M w
o =,

(i) ¥ wEfta J9 9 | 100000 w9 w9, £ 10 WA, = sore o) & B g i
s, ® 10 wfd gl wem, § wza fg

(i) WO GWED W O 92 P 10,00,000 % =) g 100000 sime e,
10 v 1 wam, & Foies g wge B amm

(v Tafe e ¥ =@ W 80% = wmm AW dW R wnffa @ e 10 o F ol
wER wwm A W weE we fen o

(vt} wwfia sim, =t Feiftm 8 g 8, fom w i andh

T8 7 w0 T i vl wa =mem gm0 sfien = B o, wews wHe
wiafeen! w=mn, e dra AV ER ¥ AR = w0 W - e
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The Balance Sheet of AB Ltd. as on March 31, 2022 is as under :

1. Equity and Liabilities

Shareholders' Funds :
{a) Share Capital :

16000 Equity Shares of ¥ 100 each fully paid

fb) Reserves and Surplus
Mon-Current Liabilities :
8% Debentures

Accrued Interest

Current Liabilities :
Sundry Creditors

Income Tax Liability

I. Assets

1.

Non-Current Assets :

Land, Building and Machinery
Current Assets :

Stock

Sundry Debtors

Investments

Cash at Bank

Cash in Hand

16,00,000
=) 21,40,000

28,00,000
1,40,000

9,00,000
20,000
Total 33,20,000

28,00,000

2,00,000
§0,000

30,000

2,06,000

4,000

Total 33,20,000

The fixed assets are heavily overvalued, A scheme of reorganization was
prepared and passed. The salient points of the scheme are the following :

fii Each share shall be sub-divided into ten [ully paid Equity Shares ol
¥ 10 each

fiil  After such sub-division, each shareholder shall surrender to the company
90% of his holding, for the purpose of re-issue to debenture holders and
creditors so far as required and otherwise for cancellation

fim} Of those surrendered, 100000 Equity Shares of ¥ 10 each shall be
converted into 8% Preference Shares of ¥ 10 each fully paid for debenture
haolders
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&)

fe}

fity The debenture holders' total claim shall be reduced to ¥ 10,00,000, This
will be satisfied by the issue of 100000 Preference Shares of ¥ 10 each

fully paid

() The claim of sundry creditors shall be reduced by 80% and the balance
shall be satisfied by allotting them Equity Shares of ¥ 10 each fully paid
from the shares surrendered

fui} Shares surrendered and not re-issued shall be cancelled

Assuming that the scheme is duly approved by all parties interested and by the
Court, draft necessary Journal Entries and Balance Sheet of the company after
the scheme has been carried into effect.

v i T f =l o T W TAEe S 6 g T R 9 2 150 o e
% Ty & flon |z 6wt iy = 10000 e w spniE e B oom 9w
= figem ) (wi—A w miR—B), il s iR R I e wh o
10000 veral §1 wR—A 0 s @m ofs =6 ¢ 4,00,000 #01 # 10000 PERE
fif) v ofy @l ® 5,00,000 = = B wfE—B 6 e wm W@ ool €2,80,000
A 10000 TEwa $ fel = oft = # 3,20,000 = = B e wE 3R e ¥
fiom iz = @ s wh §)

faght 1 g v o 9wl o A =i Eh, s o S

A newly setup manufacturing company is planning to produce a product that
will be sold for ® 150 per unit. The demand of the product is estimated at
10000 units per year. The company has the choice of two machines
fi.e., Machines—A and B), each of which has a capacity of producing
10000 units per year. Machine—A would have fixed costs of ¥ 4,00,000 per
year and would yield a profit of ¥ 5,00,000 per year on sale of 10000 units.
Machine—B would have fixed costs of ¥ 2,80,000 per year and would yield
profit of ¥3,20,000 per year on sale of 10000 units. Variable costs behave
linearly for both machines.

Calculate the volume of sales at which the costs of two machines will be
indifferant.

Wi s wiefEm, 1061 % swan P Rl & s awfem 187 s fe o
write ) Fandn Bl fm wen Pifa 6 e @, e 8 ==t fifg

What is the relevance of residential status as per the Indian Income-tax Act,
19617 Discuss in detail how the residential status of an individual is
determineéd for income tax purposes.

15

15
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3. (o) Frefefm gEm F awmow, ofen a@ e Sifa 7 X fafvee oo afs 2022 § o

areafas el # o i
foramay aw fafifer seqrr

A B o

i =i (F F) 8,000 9,600 6,400 24,000

e wd (F ) 16,000 16,800 | 24,000

weH wagh (T H) 12,000 | 12,000 | 12,800

=g (T H) 11,200 4,800 32,000

af=m w=iF (F i) 4,000 4,800 3,200 12,000

TPE T (%) 33l 25 25

Wit w2iE & fm

wR-ghEm wm () — 1,600 1,600 8,800

Wi & AR w=iE # v avm W ite fen e b e S sem w1 osiE—c @ T

T T it e s ¥ wA s % dow feb ¢ 2,80,000 W)

From the following information, prepare Process A/cs and calculate the actual

profits earned by X Lid. for the month of April 2022

Particulars i g
A B C
Opening Stock (in 7) 8,000 9,600 6,400 24,000
Direct Materdal fin ®) | 16,000 | 16,800 | 24,000
Direct Wages (in ¥) 12,000 12,000 12,800
Overheads (in ¥) 11,200 4,800 32,000
Closing Stock (in #) 4,000 4,800 3,200 | 12,000
Profit on Cost (%) 33% 25 a5
Inter-process Profit for
Opening Stock (in ¥) — 1,600 1,600 8,800

Stocks in process are valued atl prime cost and finished stock has been valued
at price at which it received from Process—C. Sales during the period were
¥ 2,80,000. 20
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(b) Te A, ad Framd, 9wl w0 wErd b, Tormm Fmm Freffom & .

mHTA—] A1
e i (faemm e

wfufram ¥ s=rl) (F 9) 38,000 36,000
TR g (F #) 40,000 45,000
Ihm fmn (€ F) 50,000 60,000
Atas fEmm (F 4) = 45,000
& & spren T e = (9 6,000 7,250
wfty dm difigs (@ ) 500 4,500
ot g w2 (3 fre e (7 9) B00 750
W o i g v = () 22,500 5,750
o 1 fem (¥ feg aEw) (P ) 750 750
w1 3 = & Pam dg  fomw & e

Tl m

e A B w-Buim o 2022-23 @ wEm wm 6 o dhn EE— ® A
Lc Eﬂzzﬁw,mﬁim—naﬂﬁw‘h:mzﬁgwmqﬁfﬁﬁr%%qﬁ AT
wfufrm & wEue ¥ wgen 8 i ammy

Mr. A, resident of Chennai, owns two houses, the particulars of which are as

under ;

House—I Heouse—II
Standard Rent (under the Rent
Control Act) (in ¥) 38,000 36,000
Municipal Valuation (in ¥) 40,000 45,000
Fair Rent (in ¥) 50,000 60,000
De facto Rent (in ¥) - 45,000
Municipal Taxes paid during
previous year (in ¥) 6,000 7,250
Fire Insurance Premium [in ¥) 500 4,500
Water Benefit Tax (due but
cutstanding) (in ¥) B00 750
Intereat on Loan taken to
construct the house (in ) 22,500 5,750
Rent of Lease (due but
outstanding) (in ) 750 750
Use of Assets Sell-occupied Rented for

Residence

Compute the Taxable Income of Mr. A for the Assessment Year, 2022-23.
House—I is constructed in February 2022, whereas House—I in 2012, How
will the outcome of this situation be treated as per the provisions of the
Income-tax Act? 15
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fc) “‘erm-afiem wfEd w R S (i) w2 w6 sgeaE § sy wn Teh
wrr i ) s fif)
“An audit is not essentially an investigation." Why? Explain the general
procedure followed in an investigation.

4. (o) AR 10 v % 160000 0 F frg ©2-50 vf dem o P @, Frsrgan 3,
wiEa s f
AT & w—r 3w
I F wg—F 4-50 7 I (i & wme)
ueefl whn o 2 oy dw
7aft 3 w1fEm afn m—r 3 vfy 9

340000 Frdl ¥ fo smiwa ww g, fed @ 20000 Pl & R srde wnfta = Ry g et
T2 A Tim = o i ade w amiE sem W fe ) s wogmm
T A T I E wwea uin ¥ ufy aaefas e

i, st 4000 r wmifen g m &, s off W e T = T el IRk O
gl ol w1 g 9 = W s T ) we w fen n

g, W e 2400 fi w5 aws @, 39 =T = gER w9 § fawa e P e .
S Tl w1 W = Fan e

e T T Al R 4800 Tl W P 8 v Y @ ol v W = R o, faed
Wi % o) = S e #

HN AEE i (T =6) it Sifag
A Limited invited applications for 160000 shares of ® 10 sach at a premium of
¥ 2:50 per share payable as follows :

On Application—% 3 per share

On Allotment—& 4-50 per share [including premium)
On 1st Call—¥ 2 per share

On 2nd and Final Call— 3 per share

Applications were received for 340000 shares, out of which applications for
20000 shares were rejected and money refunded to them. The allotment was
made pro rata to the remaining applicants. Money overpaid on application was
used against allotment money due,

Kapil to whom 4000 shares were allotted failed to pay the allotment money and
on his subsequent failure to pay the first call, his shares were forfeited.

Ramu, the holder of 2400 shares, failed to pay the two calls and his shares
were forfeited after the final call,

Of the forfeited shares, 4800 shares were re-issued at the rate of ¥ 8 per share
credited as fully paid, including the whole of Kapil's forfeited shares.

You are required to give the necessary Journal Entries.
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(b) T T % e i e s =i fif feem & R gea 6 s
) m ffa o s g Ry 6 e iy

Discuss the concept of a division as an independent profit centre. Compare the

Rate of Return Method with the Residual Income Method of performance

evaluation of a diasion. 15
o) v s wfufem, 1961 % sen Feffim 6 =mwen i

) =g
(i) Henfrait % W saEm ¥ IR0 TS Y

Explain the following as per the Indian Income-tax Act, 1961 :
fil Gratuity
fiil Leave encashment at the time of retirement Qefh=]15

wWvE—B [/ SECTION—B

5. fiefafan vt § 4 wels =1 0 wrm 150 TR 9 A
Answer the following gquestions in about 150 words each : 10=5=50

fa) $o WMo wEe Ae-fo Fo e ot & v § ‘Forfn =iy ey’ 5t TS =P 3=
e Hifa)

Explain the Financial Indifference Point® in the context of EBIT-EPS analysis
by giving suitable example.

(b) 4 wren & wn s R 4 T S wgm Rfosl f e B

What is meant by capital strueture? Discuss the major determinants of capital
siruciure.

fc) v T & 6 s Aifa ¥ it i o=men Fi
Explain the objectives of monetary policy of the RBL

fd) P wmem wn kF fRd E el e 8GR w6 s 6 aei fifm

What is capital market? Discuss the role of capital market in the economic
development of a country.

fe} T (walt) wn 7 faerm & fafim v = 0 $ifim)
What is merger? Explain various types of merger.
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6. (o) wA FafidE s wm-mam Fmin gien =) s S 3 Sl i gwe wniEm wE
o, o wftsn w1 e = R T s e R R ol & aftme g 8
¥ 13,50,000; WEsh wrm 8 F 4,50,000; 37ET ¥ 9 weh @@ F 1,50,000; =
wFE | # 1,20,000 A = TiEEE @ A # 90,000 it o= 5|

wfif woedt ) @ € 22,50,000 % 6 gonan ¥ o wd fe e 1,50,000 9w
wrme ) stEErEm BRIl dee 5wl sfm R wmeh ) wafem w0 F o
A W 2 YR S i dEE @ s weh B v oW as W
¥ 4,50,000 #rm | gEd @it goea s tomama ) wem ©1,20,000 Bl fofe w6
T 20% T WWTTE WA W 12% T g TR w1 g St 5w i W
www T =i @ )

wF T F T 129 9 5 o F fag dhe e wHe 3605 %)

Moon Ltd. wants to replace its labour-intensive manufacturing facility. The
company is evaluating a project to install a machining system. It is estimated
that the system will result in annual savings of ¥ 13,50,000 in wages,
¥4,50,000 in supervisory cost, ¥1,50,000 in material losses during
production, ¥ 1,20,000 in inventory cost and © 90,000 in other operating coats.

The machining system is likely to cost ©22,50,000 and will require an
installation cost of ¥ 1,50,000. Its useful life is eatimated at 5 years. To operate
the system, the company requires the services of two trained operators at an
annual salary of ®4,50,000 each, Its annual repairs and maintenance cost is
likely to be ¥ 1,20,000. Assuming that the corporate tax rate is 30% and the
required rate of return is 12%, suggest Moon Ltd. whether it should accept the
project or not.

The PVF of an anmuity @ 12% for S years is 3605,

M) Fieaftfer el 22 Y w wes wen finh @ w0 x fafs % el | feh o ) s
af 2022-23 % fm wh weivfm § B s = Eipw wT b T o |
52 ware ¥ :

sgwia s ffl—e 87,81,500

fisht %t T W 2 AW = AEE—30%

¥ A el shem ge— 14 g

el g A W wnedt shem ove—7 e

(it sl & wend 8) shwm sign—1 2 wEE
wor fen v st} B s fEnadl & fao 159 e b
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The following information has been extracted from the records of X Ltd.
engaged in large-scale customer retailing. You are required to forecast its
working capital requirements for the year 2022-23. One year constitutes
52 weeks :

Projected annual sales—¥ 87,81,500
Percentage of net profit on cost of sales—30%
Average credit allowed to debtors—14 weeks
Average credit allowed by creditors—7 weeks

Average inventory carrying (in terms of sales requirements)—12 weeks
Add 15% of the computed figures to allow for contingencies

e wEarh fift (mpEes F) w0 k7 vmm A welom werh il F s ot fig

15

What is a mutual fund? Discuss the types of mutual fund prevalent in India. 15

7. (o) 31 %, 2022 M Frafate EE-w W

faTr

1§t o ol

1.

g i
wwe w5 dsi

10% whmm w4
st Ta srfiavm
Fwfera i
12% SO
iﬂﬂ'ﬂﬁﬁl:

fafag FEm

#m famm
TR & T wEam

1. it
1. spatem gl

SKYC-U-COMA/&
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fa) A i
w93 vE HE
wi¥ 1F §=
it ug i

927 ; GFARTA o T wEE

11

5,00,000
1,00,000
92,000

4,000,000
1,00,000

40,000
1,00,000

13,32,000

2,80,000
2,00,000
1,56,000
6,36,000
1,48,000
488,000
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farmTor e
(4

(b s afreff .
wafy (qefim) 80,000
fEm 3,00,000
2 ﬁﬂ'm s
=], i 4,40,000
e e 4,000
sEETR TR = 20,000
Fd 13,332,000
fau m qem-va @ o=t & ma Fifa
(i) - S
fii) i ST
(i) TR S S

fiy) Tl wogied W iR F A A
() Aol Eefr (Frtin) s
The following Balance Sheet i given as on 31st March, 2022 :

FParticulars Arruoiint
r
1. Equity and Linbiities
1. Shareholders’ Funds :

Equity Share Capital 5,00,000

10% Preference Share Capital 1,000,000

Eeserves and Surplus 92,000
2. Non-Current Liabilities :

12% Debentures 4 00,000
3. Current Liabilities :

Sundry Creditors 1,000,000

Bills Payable 40,000

Provigion for Income Tax 1,00,000

Total 13,32,000

SKYC-U-COMA/6 12



. Assets
1. Non-Current Assets :
Fixed Assets |
fa) Tangible Assets :
Plant & Machinery
Land & Building
Furniture & Fittings

Less : Provision for Depreciation

(b} Intangible Assets :
Goodwill
Investments
2. Current Assets :
Current Assets
Prepaid Rent
Unamortized Preliminary Expenses

2,80,000
2,00,000
1,56,000
6,36,000
1,48,000
4,88,000

80,000
3,00,000

4,40,000
4,000
20,000

Total 13,32,000

From the given Balance Sheet, calculate the following :
fii Debt-equity Ratio

fii) Proprietary Ratio

(i} Solvency Ratio

fiy Fixed Capital Ratio from Proprietary Capital

fy Capital Gearing Ratio

(b) WER % for Fiw v fEm = w0 wew 87 0% 53 wEw R @ fem v fm b

20

What is the importance of Funds Flow Statement to the management? How is it

different from a Cash Flow Statement?

fe) amE Fraimm (Ffz 1Rm) w7 vk v mw B s B

What is credit rating? Discuss its objectives, functions and limitations.

SKYC-U-COMA/6 13
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8. fa) X Tt i ot affs fah © 24 off vk 9 P 60 o ¥ whede wrE P 16 YR T
® 3ln vl wm # S e ofd B g S o W R ETE s w9 o e e
wE, W1 ol TR B, 99 F TN 5 st & i el sgem amom §

Bfaz Ay 1w | z2wed | e
faskt 8 i3 (%) — 8 a0
Tl & gam W = wiawm 1 2 f

AR T A 25% & wies § fish § 9f % wm weh aem 3 2 1,00,000 ) aits
gk #

=l F fafen wfen % on & B sw-d-wn 20 ofawe = A o, BEw w ofies R
FTFFE B

g w4 x forfide % T wed st fi Sif e ol

X Limited has its present annual sales amounting to ¥ 60 lakhs at ¥ 24 per
unit, Variable costs are ¥ 16 per unit and fixed costs amount to ¥ 5 lakhs per
annum, Iis present credit period of one month 15 propeosed to be extended to
either two or three months whichever appears to be more profitable. The
following estimates are made for the purpose :

Credit Policy 1 month 2 months 3 months
Increase in sales [%) _ B a0
Percent of bad debt to sales 1 2 6

Fixed costs will increase by ¥ 1,00,000 annually after an increase in sales
above 25% over the present level

The company requires a pre-tax return on investment of at least 20% for the
level of rigk involved.

What will be the most rewarding credit policy in case of X Limited under the
above circumstances?

(b) W wbRE % A e A Rmom h

A Tz B fafie C fafide
r=15% r=10% r=_8%
k=10% k =10% E=10%
E=F10 E=¥10 E=F10

Ffeer wige F1 WA 0 g S A wehE f R ouds % e e e f e e

WA AT YR S () 20%, (i) 50% T (i) 0% ¥

SEYC-U-COMA/6
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Details regarding three companies are given below :

A Limited B Limited C Limited
r=15% r=10% r=_8%

k=10% k=10% E=10%
E=F10 E=F10 E=F10

Using Walter's model, you are required to calculate the value of an Equity
Share of each of these companies when dividend payout ratio is {ij 20%, fif) 50%

and (i) 0%,

15

) w4 (T Rea) w0 ¥ adermen ¥ Beem % Pmowm 49 ol | oafs Hifm

zem el o % fafim wl o ofl i Hifa

What is venture capital? Explain the functions of venture capital for the
development of economy. Aleo discuss the various stages of venture capital

financing.

SKYC-U-COMA/6
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